
Assignment 4 
 
For the Ship D in A given load condition corresponding to the following condition: 

Lpp…………………………..87,3 m 

Δ……………………………..5870 tons 

LCG…………………………. 43,2 m 

Further details given in appendix 1 

 
4.1  Calculate the draft fore and aft. 
 
 
In order to trim the vessel, 130 ton of ballast water is filled to the fore peak tank located at a LCG of 85,66 m. 
 
4.2 Calculate the new draft fore and aft. 
4.3 Calculate the Trim of the Vessel 
 

……………………………………. 
 
At departure the ship has a displacement of 6000 tons and has two full fuel oil tanks side by side, located in 
the double bottom.  (one tank SB and one tank PS ) 
The metacentric height corrected for free surface effect, has been found to:  GMc = 4,50 m 
 
Each tank has the following measurements 18 m long, 8 m wide, and 2,2 m deep. 
The density of the fuel oil:  947 kg/m3 

 
Somewhere on the voyage, half of the fuel has been used, equally form both tanks.    
4.4 Calculate the reduction of the GMt and the new GMc, from the two 50% filled tanks. 
 
4.5 Explain the influence of dividing the fueltanks in two, with a mid‐mount center bulkhead 

(slingerskot), instead of just having one big tank in the full with of the Vessel. 
 

 

 

 

 

 

 

 

 

 



Appendix 1 

 


